A 1.34-kg object moves along the x axis, subject to the potential energy shown in Figure 8-34. If the object’s speed at point C is 1.25 m/s, what are the approximate locations of its turning points?
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SOLUTION
The object will be at its turning point when its total mechanical energy equals its potential energy. Use the provided information to find the total mechanical energy of the particle, and then draw a horizontal line at the corresponding value on the U axis to find the turning points.
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Determine E from the provided information:
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Draw a horizontal line on the plot at U = 7.0 J and determine where the line crosses the potential energy curve. In this case it crosses at approximately 
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and 
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. These are the locations of the turning points.
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